
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

INVERSE TRIGONOMETRIC FUNCTIONS

Exercise 4 1

1. Find all the values of x such that 

Watch Video Solution

−10π ≤ x ≤ 10π and sin x = 0

2. Find all the values of x such that 

Watch Video Solution

−8π ≤ x ≤ 8π and sin x = − 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Z7rXMhiyyYrK
https://dl.doubtnut.com/l/_IkzbwjcK7SMP


3. Find the period and amplitude of 

Watch Video Solution

y = sin 7x

4. Find the period and amplitude of 

Watch Video Solution

y = − sin( x)
1

3

5. Find the period and amplitude of 

Watch Video Solution

y = 4 sin( − 2x)

6. Sketch the graph of y = sin x  for 0 ≤ x ≤ 6π.
1

3

https://dl.doubtnut.com/l/_IkzbwjcK7SMP
https://dl.doubtnut.com/l/_Zy5r0MUxNIWN
https://dl.doubtnut.com/l/_cqxOV7RIxFU7
https://dl.doubtnut.com/l/_gGNRjjjEdWuk
https://dl.doubtnut.com/l/_JHSVf05rKiJZ


Watch Video Solution

7. Find the value of 

Watch Video Solution

sin− 1(sin( ))
2π

3

8. Find the value of 

Watch Video Solution

sin− 1(sin( ))
5π

4

9. For what values of x, does 

Watch Video Solution

sin x = sin− 1 x ?

https://dl.doubtnut.com/l/_JHSVf05rKiJZ
https://dl.doubtnut.com/l/_0Q7YpH5PjZ5X
https://dl.doubtnut.com/l/_EBi7ZMRNjX9n
https://dl.doubtnut.com/l/_MGbxQ1JuTnX1


Exercise 4 2

10. Find the domain of the following 

Watch Video Solution

f(x) = sin− 1( )
x2 + 1

2x

11. Find the domain of the following 

Watch Video Solution

g(x) = 2 sin− 1(2x − 1) −
x

4

12. Find the value of 

Watch Video Solution

sin− 1(sin cos + cos sin )
5x

9

π

9

5x

9
x

9

https://dl.doubtnut.com/l/_JvLIe8pFRH3W
https://dl.doubtnut.com/l/_HH1kwnmjplSW
https://dl.doubtnut.com/l/_wBrpSDiOj6I5


1. Find all the values of x such that 

Watch Video Solution

−6π ≤ x ≤ 6π and cos x = 0

2. Find all the values of x such that 

Watch Video Solution

−5π ≤ x ≤ 5π and cos x = 1

3. State the reason for 

Watch Video Solution

cos − 1[cos( )] ≠
−π

6
−π

6

4. Is  true ? Justify your answer.

Watch Video Solution

cos − 1( − x) = π − cos − 1 x

https://dl.doubtnut.com/l/_nEPATbLqPfh1
https://dl.doubtnut.com/l/_lvhi9i7CiBUS
https://dl.doubtnut.com/l/_b3Zy1vQ7qlhK
https://dl.doubtnut.com/l/_gj1XqDmtIPfF


5. Find the principal values of 

Watch Video Solution

cos − 1 1

2

6. Find the value of 

Watch Video Solution

2 cos − 1( ) + sin− 1( )
1

2

1

2

7. Find the value of 

Watch Video Solution

cos − 1( ) + sin− 1( − 1)
1

2

8. Find the value of 

Watch Video Solution

cos − 1(cos cos − sin sin )
π

7

π

17

π

7

π

17

https://dl.doubtnut.com/l/_pPbzOGA0GmQR
https://dl.doubtnut.com/l/_7SEaKZR3MP7u
https://dl.doubtnut.com/l/_g1NTsMZsSHjB
https://dl.doubtnut.com/l/_h0nLtwWX0Pl9


9. Find the domain of 

Watch Video Solution

f(x) = sin− 1( ) + cos − 1( )
|x| − 2

3

1 − |x|

4

10. Find the domain of 

Watch Video Solution

g(x) = sin− 1 x + cos − 1 x

11. For what values x, the inequality  hold ?

Watch Video Solution

< cos − 1(3x − 1) < π
π

2

12. Find the value of 

cos(cos − 1 ( ) + sin− 1( )
4

5

4

5

https://dl.doubtnut.com/l/_h0nLtwWX0Pl9
https://dl.doubtnut.com/l/_YJTQzezAYzbS
https://dl.doubtnut.com/l/_prAHfOwjliTk
https://dl.doubtnut.com/l/_8fYKbOtsRvEL
https://dl.doubtnut.com/l/_S7eKanw1QJeX


Exercise 4 3

Watch Video Solution

13. Find the value of 

Watch Video Solution

cos − 1(cos( )) + cos − 1(cos( ))
4π

3

5π

4

1. Find the domain of the following functions : 

Watch Video Solution

tan− 1 √9 − x2

2. Find the domain of the following functions : 

Watch Video Solution

tan− 1(1 − x2) −
1

2

π

4

https://dl.doubtnut.com/l/_S7eKanw1QJeX
https://dl.doubtnut.com/l/_m9JD5Kh6Z9v0
https://dl.doubtnut.com/l/_Ji9LIugpkqsz
https://dl.doubtnut.com/l/_TSKtEwpb4rnO


3. Find the value of 

Watch Video Solution

tan− 1(tan )
5π

4

4. Find the value of 

Watch Video Solution

tan− 1(tan( ))
−π

6

5. Find the value of 

Watch Video Solution

tan(tan− 1( ))
7π

4

https://dl.doubtnut.com/l/_TSKtEwpb4rnO
https://dl.doubtnut.com/l/_7ueFznvPAR4Y
https://dl.doubtnut.com/l/_0m4qQALfK6Sh
https://dl.doubtnut.com/l/_H9lc8SgonyjG


6. Find the value of 

Watch Video Solution

tan(tan− 1(1947))

7. Find the value of 

Watch Video Solution

tan(tan− 1( − 0.2021))

8. Find the value of 

Watch Video Solution

tan(cos − 1( ) − sin− 1( − ))
1

2

1

2

9. Find the value of 

sin(tan− 1( ) − cos − 1( ))
1

2
4
5

https://dl.doubtnut.com/l/_H0NB0inBc3K2
https://dl.doubtnut.com/l/_Ya9GwTuMR8Ju
https://dl.doubtnut.com/l/_zfAh3tOo7YKg
https://dl.doubtnut.com/l/_Pwz67MZMN3eY


Exercise 4 4

Watch Video Solution

10. Find the value of 

Watch Video Solution

cos[sin− 1( ) − tan− 1( )]
4

5

3

4

1. Find the principal value of 

Watch Video Solution

sec− 1( )
2

√3

2. Find the principal value of 

Watch Video Solution

cot − 1(√3)

https://dl.doubtnut.com/l/_Pwz67MZMN3eY
https://dl.doubtnut.com/l/_MUE8bnSs0Ydg
https://dl.doubtnut.com/l/_zjVd5M94elHL
https://dl.doubtnut.com/l/_3iWjmDkR3OOh


3. Find the principal value of 

Watch Video Solution

cos ec− 1( − √2)

4. Find the value of 

Watch Video Solution

tan− 1(√3) − sec− 1( − 2)

5. Find the value of 

Watch Video Solution

sin− 1( − 1) + cos − 1( ) + cot − 1(2)
1
2

https://dl.doubtnut.com/l/_3iWjmDkR3OOh
https://dl.doubtnut.com/l/_d9LhErpu2HwK
https://dl.doubtnut.com/l/_inASYfO89dip
https://dl.doubtnut.com/l/_52T6WKK4CzhT


Exercise 4 5

6. Find the value of 

Watch Video Solution

cot − 1(1) + sin− 1( ) − sec− 1( − √2)
−√3

2

1. Find the value, it exists. If not give the reson for non-existence. 

Watch Video Solution

sin− 1(cos π)

2. Find the value, it exists. If not give the reson for non-existence. 

Watch Video Solution

tan− 1(sin( ))
−5π

2

https://dl.doubtnut.com/l/_D5Rf6VE6zk3T
https://dl.doubtnut.com/l/_EVdLwrGBZAq7
https://dl.doubtnut.com/l/_dpZZzWIHmEhI


3. Find the value, it exists. If not give the reson for non-existence. 

Watch Video Solution

sin− 1(sin 5)

4. Find the value of the expression in terms of x, with the help of a

reference triangle. 

Watch Video Solution

sin(cos − 1(1 − x))

5. Find the value of the expression in terms of x, with the help of a

reference triangle. 

Watch Video Solution

cos(tan− 1(3x − 1))

https://dl.doubtnut.com/l/_IWdBSiH5cDQt
https://dl.doubtnut.com/l/_u8CMGi7rUkE6
https://dl.doubtnut.com/l/_DbPbtxMrW2S2


6. Find the value of the expression in terms of x, with the help of a

reference triangle. 

Watch Video Solution

tan(sin− 1(x + ))
1

2

7. Find the value of 

Watch Video Solution

sin− 1(cos(sin− 1( )))
√3

2

8. Find the value of 

Watch Video Solution

cot(sin− 1 + sin− 1 )
3

5

4

5

https://dl.doubtnut.com/l/_JCPi8P6Yw6C5
https://dl.doubtnut.com/l/_JEnUjgG4dAJ0
https://dl.doubtnut.com/l/_XIXdYJy4g7CG


9. Find the value of 

Watch Video Solution

tan(sin− 1 + cot − 1 )
3

5

3

2

10. Prove thate 

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( )
2

11
7
24

1

2

11. Prove thate 

Watch Video Solution

sin− 1( ) − cos − 1( ) = sin− 1( )
3

5

12

13

16

65

12. Prove that

tan− 1 x + tan− 1 y + tan− 1 z = tan− 1( )
x + y + z − xyz

1 − xy − yz − zx

https://dl.doubtnut.com/l/_FtStMgmKhOp2
https://dl.doubtnut.com/l/_69c9kzkq7MGB
https://dl.doubtnut.com/l/_DGIbFYEkcezw
https://dl.doubtnut.com/l/_7lMzHirU1ErA


Watch Video Solution

13. If  show that x + y + z = xyz.

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π,

14. Prove that

Watch Video Solution

tan− 1 x + tan− 1 = tan− 1( )|x| < .
2x

1 − x2

3x − x3

1 − 3x2

1

√3

15. Simplify : 

Watch Video Solution

tan− 1( ) − tan− 1( ).
x

y

x − y

x + y

16. Solve 

sin− 1( ) + sin− 1( ) =
5

x

12

x

π

2

https://dl.doubtnut.com/l/_7lMzHirU1ErA
https://dl.doubtnut.com/l/_oE0wLxc6XjnK
https://dl.doubtnut.com/l/_SgeTctiNtZxH
https://dl.doubtnut.com/l/_C7nsNKTTeH3F
https://dl.doubtnut.com/l/_b7AQcNkUYN0O


Watch Video Solution

17. Solve 

Watch Video Solution

2 tan− 1 x = cos − 1 − cos − 1 , a > 0, > 0
1 − a2

1 + a2

1 − b2

1 + b2

18. Solve 

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

19. Solve 

Watch Video Solution

cot − 1 x − cot − 1(x + 2) = , x > 0
π

2

https://dl.doubtnut.com/l/_b7AQcNkUYN0O
https://dl.doubtnut.com/l/_VBAbXNDedX5q
https://dl.doubtnut.com/l/_vq3p8hNGQGkw
https://dl.doubtnut.com/l/_UxpFdWAWaLor


Exercise 4 6 Choose The Correct Or The Most Suitable Answer From The

Given Four Alternatives

20. Find the number of solution of the eqution

Watch Video Solution

tan− 1(x − 1) + tan− 1 x + tan− 1(x + 1) = tan− 1(3x)

1. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1(cos x), 0 ≤ x ≤ π

π − x

x −
π

2

− x
π

2

x − π

https://dl.doubtnut.com/l/_ff7C3nfXsFTM
https://dl.doubtnut.com/l/_iogysW787VeB


2. If  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1 x + sin− 1 y = ,then cos − 1 x + cos − 1 y
2π

3

2π

3

π

3

π

6

π

3.  is equal to

A. 

B. 

C. 0

D. 

sin− 1 − cos − 1 + sec− 1 − cos ec− 13

5

12

13

5

3

13

12

2π

π

tan− 1 12

65

https://dl.doubtnut.com/l/_jLx0Nd0jhQmo
https://dl.doubtnut.com/l/_c1YwGa7sRU48


Answer:

Watch Video Solution

4. If  has a solution, then

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

sin− 1 x = 2 sin− 1 α

|α| ≤
1

√2

|α| ≥
1

√2

|α| <
1

√2

|α| >
1

√2

5.  is valid for

A. 

sin− 1(cos x) = − x
π

2

= π ≤ x ≤ 0

https://dl.doubtnut.com/l/_c1YwGa7sRU48
https://dl.doubtnut.com/l/_Kfnbyq44BLig
https://dl.doubtnut.com/l/_qnAmvEA0w4D9


B. 

C. 

D. 

Answer:

Watch Video Solution

0 ≤ x ≤ π

− ≤ x ≤
π

2

π

2

− ≤ x ≤
π

4

3π

4

6. If  , the value of 

 is

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z =
3π

2

x2017 + y2018 + z2019 −
9

x101 + y101 + z101

https://dl.doubtnut.com/l/_qnAmvEA0w4D9
https://dl.doubtnut.com/l/_V2Byi1zL27FB


7. If  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot − 1 x = for somex ∈ R, the value of tan− 1 x
2π

5

−
π

10

π

5

π

10

−
π

5

8. The domain of the function defined by  is

A. [1,2]

B. [-1,1]

C. [0,1]

f(x) = sin− 1 √x − 1

https://dl.doubtnut.com/l/_V2Byi1zL27FB
https://dl.doubtnut.com/l/_HXdn5V2NjgMn
https://dl.doubtnut.com/l/_apCZB8q0AdOo


D. [-1,0]

Answer: A::B

Watch Video Solution

9. If  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = , the value of cos(cos − 1 x + 2 sin− 1 x)
1

5

−√
24
25

√
24
25

1

5

−
1

5

10.  is equal totan− 1( ) + tan− 1( )
1

4

2

9

https://dl.doubtnut.com/l/_apCZB8q0AdOo
https://dl.doubtnut.com/l/_UrSKdhOsD0ed
https://dl.doubtnut.com/l/_qs4ki7QKWtVq


A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

cos − 1( )
1

2

3

5

sin− 1( )
1

2

3

5

tan− 1( )
1

2

3

5

tan− 1( )
1

2

11. If the function  belongs to

A. [-1,1]

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

f(x) = sin− 1(x2 − 3)  then x

[√2, 2]

[ − 2, − √2] ∪ [√2, 2]

[ − 2, − √2]

https://dl.doubtnut.com/l/_qs4ki7QKWtVq
https://dl.doubtnut.com/l/_RnlgUR1aP9Ul


12. If  are two anges of a triangle, then the third

angle is

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

cot − 1 2 and cot − 1 3

π

4

3π

4

π

6

π

3

13.  Then x is a root of the

equation

A. 

B. 

sin− 1[tan ] − sin− 1[√ ] = .
π

4

3

x

π

6

x2 − x − 6 = 0

x2 − x − 12 = 0

https://dl.doubtnut.com/l/_RnlgUR1aP9Ul
https://dl.doubtnut.com/l/_ZOOW70AOUawF
https://dl.doubtnut.com/l/_6YnVLTjcsrWI


C. 

D. 

Answer: A::B

Watch Video Solution

x2 + x − 12 = 0

x2 + x − 6 = 0

14. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1(2 cos2 x − 1) + cos − 1(1 − 2 sin2 x) =

π

2

π

3

π

4

π

6

https://dl.doubtnut.com/l/_6YnVLTjcsrWI
https://dl.doubtnut.com/l/_aF3nhUASY0lA


15. If 

A. 

B. 0

C. -1

D. 

Answer: A

Watch Video Solution

cot − 1(√sin α) + tan− 1(√sin α) = u, then cos 2uis equal to

tan2 α

tan 2α

16. If  is equal to

A. 

B. 

C. 0

D. 

|x| ≤ 1, then2 tan− 1 x − sin− 1 2x

1 + x2

tan− 1 x

sin− 1 x

π

https://dl.doubtnut.com/l/_siZga8tF6wyg
https://dl.doubtnut.com/l/_YwnZdvlZleOQ


Answer:

Watch Video Solution

17. The equation  has

A. no solution

B. unique solution

C. two solutions

D. infinite number of solutions

Answer:

Watch Video Solution

tan− 1 x − cot − 1 x = tan− 1( )
1

√3

18. If  then x is equalt to

A. 

sin− 1 x + cot − 1( ) = ,
1

2

π

2

1

2

https://dl.doubtnut.com/l/_YwnZdvlZleOQ
https://dl.doubtnut.com/l/_nC0RygXPvSu8
https://dl.doubtnut.com/l/_yZmx3B2veNX9


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

√5

2

√5

√3

2

19. If  then the value of x is

A. 4

B. 5

C. 2

D. 3

Answer: C

Watch Video Solution

sin− 1 + cos ec− 1 = ,
x

5

5

4

π

2

https://dl.doubtnut.com/l/_yZmx3B2veNX9
https://dl.doubtnut.com/l/_s6Ijl66OERxU
https://dl.doubtnut.com/l/_nDzXMMvYDYwL


Additional Questions I Choose The Correct Or The Most Suitable Answer

From The Given Four Alternatives

20.  is equal to

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

sin(tan− 1 x)|x| < 1

x

√1 − x2

1

√1 − x2

1

√1 + x2

x

√1 + x2

1. If

A. 

tan− 1( ) = α  then prove that x2 = sin 2α.
√1 + x2 − √1 − x2

√1 + x2 + √1 − x2

sin 2α

https://dl.doubtnut.com/l/_nDzXMMvYDYwL
https://dl.doubtnut.com/l/_Niyox6nEcRZI


B. 

C. 

D. 

Answer: A::B

Watch Video Solution

sin α

sin α

cos α

2. If 

A. 

B. 

C. 

D. none of these

Answer: B::C

Watch Video Solution

sin− 1 x − cos − 1 x = , then
π

6

1

2

√3

2

−1

2

https://dl.doubtnut.com/l/_Niyox6nEcRZI
https://dl.doubtnut.com/l/_cRMaASwwl3qh
https://dl.doubtnut.com/l/_XL2TFaOUY1EB


3. The number of solution of the eqution  is

A. 2

B. 3

C. 1

D. none

Answer: C

Watch Video Solution

tan− 1 2x + tan− 1 3x =
π

4

4. If  then

A. 

B. 

C. 

D. none

α = tan− 1(tan ) and β = tan− 1( − tan ),
5π

4

2π

3

4α = 3β

3α = 4β

α − 4β =
7π

12

https://dl.doubtnut.com/l/_XL2TFaOUY1EB
https://dl.doubtnut.com/l/_jKmoFDaIDSYI


Answer: A::B::C::D

Watch Video Solution

5. The number of real solution of the equation

A. 0

B. 1

C. 2

D. infinite

Answer: C

Watch Video Solution

√1 + cos 2x = √2 sin− 1(sin x), − π < x < πis

6. If α = tan− 1( ), β = tan− 1( )  then α − β =
√3x

2y − x

2x − y

√3y

https://dl.doubtnut.com/l/_jKmoFDaIDSYI
https://dl.doubtnut.com/l/_lsCYWNY81ATW
https://dl.doubtnut.com/l/_aOdfSWNtKHBj


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π

6

π

3

π

2

−π

3

7. 

A. 0

B. 

C. -1

D. none

Answer:

Watch Video Solution

tan− 1( ) + tan− 1( ) =
1

4

2

11

1

2

https://dl.doubtnut.com/l/_aOdfSWNtKHBj
https://dl.doubtnut.com/l/_tN4UDO4HoQXb


8. If 

A. 5

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

tan− 1(3) + tan− 1(x) = tan− 1(8),  then x =

1

2

5

14

14
5

9. The value of 

A. 

B. 

C. 

cos − 1( ) + sin− 1( )is
cos(5π)

3

sin(5π)

3

π

2

5π

3

10π

3

https://dl.doubtnut.com/l/_tN4UDO4HoQXb
https://dl.doubtnut.com/l/_hPem8Gl1HwDc
https://dl.doubtnut.com/l/_E2gKqCOZPKQv


D. 0

Answer:

Watch Video Solution

10. 

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

sin{2 cos − 1( )} =
−3

5

6

25

24
25

4
5

−24
25

11. If  then x is4 cos − 1 x + sin− 1 x = π,

https://dl.doubtnut.com/l/_E2gKqCOZPKQv
https://dl.doubtnut.com/l/_z9sxyjXUEabt
https://dl.doubtnut.com/l/_LMjQ8mkOpzhs


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

3

2

1

√2

√3

2

2

√3

12. If  then x is

A. 0

B. -2

C. 1

D. 2

Answer: B

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( − 7),
x + 1

x − 1

x − 1

x

https://dl.doubtnut.com/l/_LMjQ8mkOpzhs
https://dl.doubtnut.com/l/_iWNbprBYJp5Y


13. If 

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

cos − 1 x > sin− 1 x,

< x ≤ 1
1

√2

0 ≤ x <
1

√2

−1 ≤ x <
1

√2

x > 0

14. In a  if C is a right angle, then 

A. 

B. 

ΔABC,

tan− 1( ) + tan− 1( ) =
a

b + c

b

c + a

π

3

π

4

https://dl.doubtnut.com/l/_iWNbprBYJp5Y
https://dl.doubtnut.com/l/_H24aVLV1i1zU
https://dl.doubtnut.com/l/_tiLzuSQyJ84t


C. 

D. 

Answer: D

Watch Video Solution

5π

2

π

6

15. 

A. 7

B. 6

C. 5

D. none

Answer:

Watch Video Solution

cot( − 2 cot − 1 3)
π

4

https://dl.doubtnut.com/l/_tiLzuSQyJ84t
https://dl.doubtnut.com/l/_qd2di3JItDdo


Additional Questions Ii Fill In The Blanks

1. If 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

tan− 1(cot θ) = 2θ, thenθ = ..........

±3

±
π

4

±
π

6

2. The domain of  is……….

A. [3,5]

B. [-1,1]

C. 

cos − 1(x2 − 4)

[ − √5, − √3] ∪ [√3, √5]

https://dl.doubtnut.com/l/_DOisWuVojX22
https://dl.doubtnut.com/l/_iWu167fQFNs3


D. [0,1]

Answer: C

Watch Video Solution

3. The value of  is …………

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan(cos − 1 + tan− 1 )
3

5

1

4

19

8

8

19

19

12

3

4

4. The value of  is ………..sin(2(tan− 1 0.75)

https://dl.doubtnut.com/l/_iWu167fQFNs3
https://dl.doubtnut.com/l/_B3ZaermMtDy8
https://dl.doubtnut.com/l/_vyDvqmfpbR6Z


A. 0.75

B. 1.5

C. 0.96

D. 

Answer:

Watch Video Solution

sin− 1(1.5)

5. If  is……………

A. 

B. 0

C. 2

D. 

Answer:

Watch Video Solution

x > 1, then2 tan− 1 x + sin− 1( )
2x

1 + x2

4 tan− 1 x

π

https://dl.doubtnut.com/l/_vyDvqmfpbR6Z
https://dl.doubtnut.com/l/_7vFFoIUZai3V


6. If  then of the possible values of  is…………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ = sin− 1(sin( − 60∘ )) θ

π

3

π

2

2π

3

−2π

3

7. The value of  is………….

A. 

B. 

C. 

sin− 1(cos )
33π

5

3π

5

−π

10

π

10

https://dl.doubtnut.com/l/_7vFFoIUZai3V
https://dl.doubtnut.com/l/_hkSxPcbs66g7
https://dl.doubtnut.com/l/_GFWPWhgE2CPe


D. 

Answer: A

Watch Video Solution

7π

5

8. If

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x < 0, y < 0  such that xy = 1,  then tan− 1(x) + tan− 1(y) = ..........

π

2

−π

2

−π

https://dl.doubtnut.com/l/_GFWPWhgE2CPe
https://dl.doubtnut.com/l/_PVXKjfNojgh0


9. The principal value of  is……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin− 1( )
−1

2

π

6

−π

6

π

3

−π

3

10.  ………

A. 

B. 

C. 

D. 

tan− 1(tan )
9π

8

9π

8

−9π

8

π

8

−π

8

https://dl.doubtnut.com/l/_50oIRu1AUK0J
https://dl.doubtnut.com/l/_NraIeLVb8T42


Additional Questions Iii Choose The Incorrect Answer

Answer:

Watch Video Solution

1. For the inverse sine function

A.  is an odd function

B.  is an even function

C. 

D. It passes through the origin

Answer: A::C

Watch Video Solution

sin− 1 x

sin− 1 x

sin− 1(sin x) = π − x  if ≤ x ≤ 3
π

2

π

2

2. For the inverse cosine function function

https://dl.doubtnut.com/l/_NraIeLVb8T42
https://dl.doubtnut.com/l/_BNIBwMe7hNSv
https://dl.doubtnut.com/l/_mviG2ICDb01v


A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

y = cos − 1 x, − 1 ≤ x ≤ 1

cos − 1(cos x) = x  if 0 ≤ x ≤ π

cos − 1(cos 3π) = 3π

cos − 1(cos 3π) = π

3. For the inverse tangent function

A. It passes through the origin

B.  is an odd function

C. It is symmetric w.r.t. origin

D. The inverse tangent function is incresing

Answer: A::C

Watch Video Solution

y = tan− 1 x

https://dl.doubtnut.com/l/_mviG2ICDb01v
https://dl.doubtnut.com/l/_ypTrkhwLJ4XJ


4. For the inverse tangent function

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

tan(tan− 1(2019)) = 2019

tan− 1( − √3) =
−π

3

tan− 1( ) =
tan 3π

5

3π

5

tan− 1( ) =
tan 3π

5

−2π

5

5. For the inverse tangent function

A. 

B. 

C. 

tan− 1(√3) = ⇒ tan = √3

y = ∈ ( , )
π

3

−π

2

π

2

tan− 1 √3 =
π

3

https://dl.doubtnut.com/l/_ypTrkhwLJ4XJ
https://dl.doubtnut.com/l/_20nNtSjCz37r
https://dl.doubtnut.com/l/_7Zoinq2rwa7M


Additional Questions Iv Choose The Odd Man Out

D. 

Answer: D

Watch Video Solution

y = ∈ ( , )
π

2

−π

2

π

2

1. Choose the odd man out

A. Domain is 

B. Range is 

C. Odd function

D. Periodic function

Answer: C::D

Watch Video Solution

( − ∞, − 1] ∪ [1, ∞)

( , ) − {0}
−π

2

π

2

https://dl.doubtnut.com/l/_7Zoinq2rwa7M
https://dl.doubtnut.com/l/_B2VKcFH34cNa
https://dl.doubtnut.com/l/_vQLUTaCsxz89


2. Choose the odd man out

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan(tan− 1 x) = xif x ∈ R

sin− 1( ) = cos ecx  if x ∈ R /( − 1, 1)
1

x

cos − 1( ) = sec x  if x ∈ R /( − 1, 1)
1

x

tan− 1( ) = {
cot − 1 x,  if x > 0

−π + cot − 1 x  if x < 0

1

x

3. Choose the odd man out

A. The x- intercept is 1 and the y-intercept is 

B. It is an even function

C. Not symmetric with respect to orign

D. Not symmetric with restect to y-axis

π

2

https://dl.doubtnut.com/l/_vQLUTaCsxz89
https://dl.doubtnut.com/l/_eIcXDfu0cAJ1


Answer: A::C

Watch Video Solution

4. Choose the odd man out

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

sin− 1 x = cos − 1 √1 − x2  if 0 ≤ x ≤ 1.

sin− 1 x = cos − 1 √1 − x2  if − 1 ≤ x ≤ 0.

cos − 1 x = sin− 1 √1 + x2  if 0 ≤ x ≤ 1.

cos − 1 x = sin− 1 √1 − x2  if 0 ≤ x ≤ 1.

5. Choose the odd man out

A. cot(cot − 1( + 600)) = − 600

https://dl.doubtnut.com/l/_eIcXDfu0cAJ1
https://dl.doubtnut.com/l/_5nUF6JQniC1r
https://dl.doubtnut.com/l/_oe9BdN9RFf6T


Additional Questions 2 Marks

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

cot(cot − 1(1782)) = 1782

cot(cot − 1( )) =
−17

9
−17

9

cot(cot − 1(√3)) = √3

1. Find the principal value of 

Watch Video Solution

tan− 1( )
−1

√3

2. Find the principal value of 

Watch Video Solution

sin− 1( − 1).

https://dl.doubtnut.com/l/_oe9BdN9RFf6T
https://dl.doubtnut.com/l/_KWNMwuBKjPo4
https://dl.doubtnut.com/l/_sP1ENM2VS0Ss
https://dl.doubtnut.com/l/_zChsjwxXMmK0


3. Find the principal value of 

Watch Video Solution

cos − 1( )
−1

2

4. If  find the value of 

Watch Video Solution

cot − 1( ) = θ,
1

7
cos θ.

5. If  then find the value of x.

Watch Video Solution

sin− 1( ) = tan− 1 x,
1

2

6. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan= − 1( )
1

7

1

13

2

9

7. Evaluate sin(cos − 1( ))
3

5

https://dl.doubtnut.com/l/_zChsjwxXMmK0
https://dl.doubtnut.com/l/_I3VQGQPih28J
https://dl.doubtnut.com/l/_4m6DJeSfpQQ1
https://dl.doubtnut.com/l/_17Ug0mj5msRj
https://dl.doubtnut.com/l/_6S66gzwXDh6L


Additional Questions 3 Marks

Watch Video Solution

8. Evaluate 

Watch Video Solution

( cos − 1 )
1

2
4
5

9. Prove that 

Watch Video Solution

2 tan− 1( ) = tan− 1( )
2

3

12

5

10. Evaluate 

Watch Video Solution

sin(cos − 1( ))
1

2

https://dl.doubtnut.com/l/_6S66gzwXDh6L
https://dl.doubtnut.com/l/_RuuF2xuGTM9a
https://dl.doubtnut.com/l/_t3qm9MhBKRMb
https://dl.doubtnut.com/l/_sX6yGxQm30hx


1. Prove that 

Watch Video Solution

cos − 1( ) + tan− 1( ) = tan− 1( )
4
5

3

5
27
11

2. Evaluate : 

Watch Video Solution

cos[sin− 1 + sin− 1 ]
3

5

5

13

3. Prove that 

Watch Video Solution

tan− 1( ) − tan− 1( ) = .
m

n

m − n

m + n

π

4

4. Solve : 

Watch Video Solution

tan− 1( ) + tan− 1( ) =
x − 1

x − 2

x + 1

x + 2

π

4

https://dl.doubtnut.com/l/_RRa1cEPtuTUq
https://dl.doubtnut.com/l/_gU59YVRiOI0C
https://dl.doubtnut.com/l/_3sTPDukkaGcJ
https://dl.doubtnut.com/l/_V09fYxnvqeJi


5. Solve : 

Watch Video Solution

tan− 1( ) + cot − 1( ) = , x > 0
2x

1 − x2

1 − x2

2x

π

3

6. If  then find the value of x.

Watch Video Solution

sin(sin− 1 + cos − 1 x) = 1,
1

5

7. Prove that 

Watch Video Solution

tan− 1 √x = cos − 1( ), x ∈ [0, 1]
1

2

1 − x

1 + x

8. Evaluate 

Watch Video Solution

cos[cos − 1( + )]
−√3

2

π

6

https://dl.doubtnut.com/l/_pwu73PcOdHhu
https://dl.doubtnut.com/l/_dX12eg7wxRYK
https://dl.doubtnut.com/l/_xBnge9sjHq1V
https://dl.doubtnut.com/l/_Ee8aYSxibnoN


Additional Questions 5 Marks

9. Find the real solutions of the eqution

Watch Video Solution

tan− 1 √x(x + 1) + sin− 1 √x2 + x + 1 =
π

2

10. Solve : 

Watch Video Solution

cos(tan− 1 x) = sin(cot − 1 )
3

4

1. Find the domain of the following functions 

Watch Video Solution

f(x) = sin− 1(2x − 3)

https://dl.doubtnut.com/l/_jrkGO0RIt0Zu
https://dl.doubtnut.com/l/_7tv53QBPnneB
https://dl.doubtnut.com/l/_dgghPhG4jVVv


2. Find the domain of the following functions 

Watch Video Solution

f(x) = sin− 1 x + cos x

3. Write the function  in the

simplest form.

Watch Video Solution

f(x) = tan− 1 √ − a < x < a
a − x

a + x

4. Simplify : 

Watch Video Solution

sin− 1( ), < x <
sin x + cos x

√2

−π

4

π

4

5. If

tan− 1( ) = α  then prove that x2 = sin 2α.
√1 + x2 − √1 − x2

√1 + x2 + √1 − x2

https://dl.doubtnut.com/l/_tNef6whxXzRd
https://dl.doubtnut.com/l/_65FbJ51w347x
https://dl.doubtnut.com/l/_VtxyxajUZatN
https://dl.doubtnut.com/l/_VwnccCucjp8r


Watch Video Solution

6. Prove that

Watch Video Solution

tan− 1( ) − tan− 1( ) = sin− 1( )
1 − x

1 + x

1 − y

1 + y

y − x

√1 + x2 ⋅ √1 + y2

https://dl.doubtnut.com/l/_VwnccCucjp8r
https://dl.doubtnut.com/l/_PdqunbNK9M2K

